Algebra 2 — Chapter 9 Review

Sequences Practice

Names: %6(4

Date:”

Per:

Directions: For each sequence below, identify whether it is Arithmetic or Geometric, identify the common
difference or common ratio, write the Explicit Formula, and find the Given Term.

Representation Arithmetic Common Explicit Formula Given Term
or Geometric Difference or an
1.-6, 12, -24, .. comion — | ay, 1o-l )
Geo | 1=-2 | On=-L(-2)"%, = -6(-2)
i /am = 9072—
3, 139270 n- SL"" 1Y)
Geo |r-3 0,213 |3.213)
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3. -10,-8, -6, -4, ... As6 ]
Atk | d=2 |4, =0 +n-0@) g, = 1o+ GedE)
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4.72,48,24, .. 15 \
Arith o= - 24 =2+ (n-D(-21) Qg™ 72+ (15-P(-2)
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6. -4,-12,-36, ... B NERE )
Gieo =3 =<1 (5) &_,Q'/ "}(5\§| J
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7. -2,-10, -50, ... n-) a9 - 1
Gﬁo r'SS an = ”2-(.5> aq = "2_(5)67 : |
q = "78,250 } |
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9. 4,24, 144, ... = |
(Zeo r=b O = LK(O> Lf(lo) *
[ 0. =180 (mf( J »
10, 210 06,31 & B [h .-)X—("all |
Arith  |d=-D |Op= 2+ g, 5 20 4(1-1)-5)
[ =34




Series Practice

Identify each list as a series or a sequence. (Circle your answer)
1.2,6,10,14, --- 1. series or

2.1+4+7+10+13 2. or sequence

3.4, 10,16, 22, 28 . 3. series or

4,5+12+19+26+335.1.4+1.1+08+05+ - @ or sequence
=

5.-2-11-20-29- .- 5 or sequence

Find the sum of the first 12 terms)of the arithmetic series.

6.1+3+5+ @Z: +(,Z")(2>:_Z—§—7.3+7+11+15+--- alz:j+(/2—f>(9)=%’

S =1+ 4] 5, - 3 +4%) {20
Find the sum of tf the geometric series.

82+6+18+ 91+2+4+8+

5;: "3> %Zl%b ‘ S (/ Z) ’%/Z?’Z

10. Your brother is preparing for basketball season. He shot 26 baskets on the first day that he practiced. He shot 32
baskets on the second day and 38 baskets the day after that. gZQ 3 2_ gz

a. If this pattern continues, how many baskets will he shoot on the 30th day?

Obo =2 F(2-1)(0) = 200 MI%M@M

b. How many baskets will he have shot in total during those 30 days?
20 -

11. Your classmate is trying to cut down on the amount of time he spends watching television. In January, he spent a
total of 3600 min watching television. He watched television for 3240 min in February and 2916 min in March. If this

pattern continues, how many minutes of television will he watch this year'-’ {3(0@ 52;/,0 29/ <ﬂ -

% g(ﬁoo(//@,c?) om% )2 St

o= b(o/o_( 27 o 156525 hns |




